66

FIFE / Product Number

AUX - -
Hti&

H dimension

Wti%k

W dimension

D dimension

A

D~T& FILZRE

Aluminium feet

BT =h)LT—%4 / Technical Datall

##ftkILY / Recommended torque: 0.3N*m ~ 0.6N*m

EX (P /H)
Screw (P or H)

B E X14L# / Original trapezoidal head screw specification

@ (O

© P

[P] 75 / Phillips

7%ff / Hexagon—socket

1%k / Color Type

fitHk

Color Type

¥R AZ / Components

No. £ % / Part name #=E / Pcs ME / Material & - KM / Color-Finish
. a—F—Jayy 4 FILEZ A F v Xk ADC12 DIIN—, Ty F%
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
9 R 4 TILEHRE A A6063S-T5 DIN—  TZ9T-TILIAh
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
3 FN— : 7 ILEAR A1100P DIIN— , TFVY-TILTAh
Top cover Aluminium A1100P Silver , Black*Anodized
4 Thii— : 7JLZ1R A1100P DIN—  TZ9T-TILIAh
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 FILZE 4 T & P)avd L DIWN— , TZVT-TULIAL & TS5
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
6 BR{FE R (MM3 x 8) 16 #* =TIV AYE
Screw (Flat head M3 - 8) Steel Nickel plated
; RATE R (BE#M3 x 5) 8 % ZurLAyE | ZER o004k
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
8 HHE R UL KM4 x 8) 4 % =flEo/air—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
®
3 )

ARESIMIH I 2MREOEIFEIHRRAINF BT ELIFBLEI . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

BASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
ZIILIarvka—)LiRvo R
ALUMINIUM CONTROL BOX

o]

RE/Scale

i85 / Code | 3—#+—7J A% / Corner block {BI#R / Frame H/\— / Top cover | T H/3\— / Bottom cover TILERE / Aluminium feet
SSs 2 JLsN— / Silver 2 )LiN— / Silver 2 JL1N— / Silver 2 )LsN— / Silver 2 )LiN— / Silver
S B 73574 / Black 2 )LsN— / Silver < JLsN— / Silver < )LsN— / Silver < JLsS— / Silver
B X 5% / Black 7594 / Black 2 )LsS— / Silver 2 JLiS— / Silver 2 JLsS— / Silver
B B 75v% / Black 7394 / Black 75v7% / Black 75974 / Black 75v7% / Black

7 5%/ Approved

iR

#%[X|/Checked #X/Created

£ Al

FIZ /Product number

AUX66-30-30A1-101

R—/Page

{YER B /Date

2022/10/25

1/ 6




293

A-A(15)

44

D view

B view

E view
300+ 05

A =

0
o
.H
o
o
(ap)
A view
™ o}
o
g N _ _
©
©
—

10
o

B-B(15)
D
T9)

293

C view

F view

C-C(15)

] .

a
-

253

BASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
ZIILIarvka—)LiRvo R
ALUMINIUM CONTROL BOX

o]

752/ Approved

iR

#%[X/Checked

=

#1[X]/Created

A1l

RIE /Product number

AUX66-30-30A1-101

RE/Scale
1:5

{ERL B /Date 2022/10/26

R—/Page

2 /6




A I / A Frame

250

65

58.7

M / Front side

B {Bl#x / B Frame

Z M / Front side

22.5

s

1

33

33

# E |
A lr,\ ral
& O
5 2-M3AH SR
2-M3 Countersunk
X mEEFEHE / Same on the other side.
% E / Back side
A £
& &

@ / Back side

mmd/Title
HARHANTEMTE AR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H66 — W300 125
iR X ol R—/Page
1R H/Date 2022/09/27 3/ 6




C {I#k / C Frame

250

65

58.7

M / Front side

D fl#x / D Frame

Z M / Front side

22.5

s

1

33

33

# E |
A lr,\ ral
& O
5 2-M3AH SR
2-M3 Countersunk
X mEEFEHE / Same on the other side.
% E / Back side
A £
& &

@ / Back side

mmd/Title
HARHANTEMTE AR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H66 - D300 125
iR X ol R—/Page
1R H/Date 2022/09/27 4 / 6




4-R14.7
s g
g o~

FRE / Front side

289.4

270

/s

194

BE#~ti% / Max dim. 253+ 0.5

4-@A5

A% / Max dim. 253+ 0.5

REE—HMAY

Surface protective film side

/o PAN
~ 194
e} ~

ANg S/

ZZ M / Back side

mn/Title
TAKACHI| MR HhFEHT X HI8— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 5%/ Approved & /Checked #X/Created RIE /Product number RE/Scale
W300 - D300 _ 9
iR x ES2 ) N> /Page
{Em B /Date 2022/07/26 5/ 6




289.4

270
2414 2
4-R14.7 4-@as
/o I /o o)

0
=
_H
™
o
N
£

< < 5

2 Rz 3

~ N =
~
;E R — M
-'I"% Surface protective film side
T

o o/ o o/
4-M4
A#Ti% / Max dim. 253+ 0.5
KM / Front side ZZ M / Back side
mn/Title
TAKACHI| BXEHANTFERIXE TH/N— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
7 R/ Approved & /Checked #1[X]/Created RIE /Product number RE/Scale
W300 - D300 18
EP*E X E‘T’*ﬂ' ~N—/Page
YR B /Date 2022/07/26 6 / 6




	AUX66-30-30A_ｼｰﾄ1
	AUX66-30-30A_ｼｰﾄ2
	AUS_(AUX66)_H66-W300
	AUS_D (AUX66)_H66-D300
	AUT(E)_AUX-Top_W300-D300
	AUB(E)_AUX-A_Bottom_W300-D300

